N = 0l & At & Ml A

20188 &= =0l &t 2 BH3)

2A NS
H: N2 (+SLRE/HERE - SFSIIE)
ool DEYH CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
wEHFH M 15,894,129 15,201,496 692,633
= 40,800
Xl 110,000
= 270,632
Al 15,472,697
nsA(+=3LuE/UHs50S - 2]SIIEY 13,349,229 13,809, 387 A 460,158
= 40,800
Xl 110,000
< 270,632
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203 YR =2l 900 900 0
03 A MFAH S Z=AY| 900 900 0
ONSHH 4L = 900,0008 * 14! 900
307 21201 A 1,320,356 1,254,656 65,700
02 It S AIHE L 20,056 20,056 0
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0%) 338,000& = 104 » 123 4,056
O0egol Sotn nsEXE & AZ2s XA
e 3,000,000& = 14 3,000
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5,000,000& = 14 5,000
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OHANSHED BoAALY 75
20,866,000 * 14! 20,866
& 4,173
Al 16,693
(E)AIL SOIZ B2 BEHIXE 90,000 90,000 0
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— X&) ot S 4,000& = 1,0000H 4,000
— BFALX 2,000& = 2,0000H4 4,000
— OFZ X1 &0l 10,000& * 1,000H 10,000
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O&uYd Jd3as d4 1,500,000& = 2000 2 30,000
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5,000,000& * 5J0 2 25,000
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OASHOI A& L D
30,000,000 = 14! %= 1.08/100 324




SA - ZE-B(EA) - NRAY - B S il
OusStss & FEs |2
40,000,000 * 1Al = 1.08/100 432
OLHEA MM FHI
649,500,000& * 14l .63/100 4,092
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OHAZ2AT &3
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nNEsdEAN =g 271,799
101 @124l 94,926
04 JIZHHZ2XNSE S 94,926
OsdY = - FX s 87,726
— =2 (JI2tH) 60,2403 * 5H » 225¢ 67,770
T4 60,2403 * 5H = 47> 14,157
— 3= 60,2403 * 58 » 113 3,314
— A2 22 (02 =)
7,530& * 150% * 5% * 4AI2t » 112 2,485
O=28 = X &x 2 H=HI(JI2HA) 7,200
— &= 200,000& = 5 « 1= 1,000
-5 150,000 = 5% * 2% 1,500
—ot= 150,000 » 5% * 2% 1,500
—EF= 150,000 = 5&F =« 2% 1,500
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— gst= 200,000& = 6H 1= 1,200
-== 150,000& = 6 * 1 900
—ot= 150,000& » 6% * 1= 900
—&EF= 150,000 » 6 * 1 900
— &3t 100,000& = 6F * 2% 1,200
- 29 20,000 * 6% = 2% 240
-2 30,000& » 6H 2% 360
- 2% 20,000& » 6% » 2% 240
O2Y = - 3X ¢£x22 S2AUI(3RE)
7,000& * 498 » 50 1,400
O2Y = - dX &8 EH 2 (&=4)
200,000& = 53| = 1CH 1,000
OunsZM A 11,000
— 89 60,000 * 5J4 * 53 1,500
— ozt 2 o 5,000& * 2004 1,000
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50,000& = 100CH 5,000
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Os2Y = - X RO AAG(CCTV) SAAL
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Al 35,000
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70,000,000& * 14! * 99.10/100 69,370
Xl 35,000
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03 A& S THHI 630 864 A 234
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70,000,000% = 0.90/100 630
HHSE 2t 32,230 32,230 0
AL A 2e 32,230 32,230 0
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60& » 3& = 10,0000H 1,800
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60& » 2& = 10,0000H 1,200
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60& » 2& = 10,0000H 1,200
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ol 23| 32,920 30,969 1,951
ol 2A | 32,920 30,969 1,951
101 @121l 32,920 30,969 1,951
03 I HLZ2ZZAHE S 32,920 30,969 1,951
O=2Y = - 81 ¢ gExX 32,920
—JI=23 1,553,920& * 14 * 12& 18,648
— &3 1,553,920 * 50% * 1H * 43| 3,108
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- s 1,680
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— RIS 84,480 » 1H x 18Y 1,521
— A ZAH| 100,000& + 198 = 12& 1,200
—WEEXH| 100,000& » 1Y = 12& 1,200
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— 2A EUY 200,000& * 53 = 104 1,000
—Z2HI(EW) EY
200,000& * 53 = 404 4,000
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200,000& * 53 « 104 1,000
—PC =2l 100,000 = 20CH = 20/100 400
— J|Et==2lHl| 50,000& = 12& 600
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04 EANSHLRF=AH| 3,600 4,200 A 600
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100,000& = 1 = 12& 1,200
SS(DEHHN) (LD E/HESNE - S FEIIE 2,400,000 1,250,000 1,150,000
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WEAHH XIS 2,400,000 1,250,000 1,150,000
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